** paper Hg in foods

[bookmark: _GoBack]
*make subpopulations
*overall
gen pop=1
replace pop=0 if lbxthg==.
replace pop=0 if lbxbgm==.
replace pop=0 if milk==.
replace pop=0 if (drd360==. | drd360==7 | drd360==9 )
replace pop=0 if (drd340==. | drd340==7 | drd340==9 )

*bloodhgbyfish
gen popnofish=pop
replace popnofish=0 if drd360==1
replace popnofish=0 if drd340==1
replace popnofish=0 if fishdiet==1 
replace popnofish=0 if shelldiet==1
replace popnofish=0 if mixseafood==1
gen popfish=pop
replace popfish=0 if (drd360==2 & drd340==2 & fishdiet!=1 & shelldiet!=1 & mixseafood!=1)

*for urinehg analysis
gen popur=pop
replace popur=0 if urxuhg==.
*urinehgbyfish
gen popurnofish=popur
replace popurnofish=0 if drd360==1
replace popurnofish=0 if drd340==1
replace popurnofish=0 if fishdiet==1 
replace popurnofish=0 if shelldiet==1
replace popurnofish=0 if mixseafood==1
gen popurfish=popur
replace popurfish=0 if (drd360==2 & drd340==2 & fishdiet!=1 & shelldiet!=1 & mixseafood!=1)


*datamanagement for mercury
rename lbxthg thg
rename lbxbgm mehg
rename lbxbge ethg
rename lbxihg ihg
rename urxuhg uhg

gen thg5=0
replace thg5=1 if thg>5.8
replace thg5=. if thg==.
label variable thg5 "THg > 5.8 ug/L"
gen thg3=0
replace thg3=1 if thg>3.4
replace thg3=. if thg==.
label variable thg3 "THg > 3.4 ug/L"
gen mehg5=0
replace mehg5=1 if mehg>5.8
replace mehg5=. if mehg==.
label variable mehg5 "MeHg > 5.8 ug/L"
gen mehg3=0
replace mehg3=1 if mehg>3.4
replace mehg3=. if mehg==.
label variable mehg3 "MeHg > 3.4 ug/L"

*creatinine corrected urinary hg
gen uhgc=(uhg/urxucr)*1000

gen lthg=ln(thg)
gen lmehg=ln(mehg)
gen lihg=ln(ihg)
gen lethg=ln(ethg)
gen luhg=ln(uhg)
gen luhgc=ln(uhgc)

xtile thgq=thg if pop==1, nq(4)
xtile mehgq=mehg if pop==1, nq(4)
xtile ihgq=ihg if pop==1, nq(4)
xtile uhgq=uhgc if pop==1, nq(4)

**amount of hg > lod
summ uhg if popur==1, detail
summ uhg if (popur==1 & uhg<=0.05), detail
summ mehg if pop==1, detail
summ mehg if (pop==1 & mehg<=0.12), detail
summ thg if pop==1, detail
summ thg if (pop==1 & thg<=0.16), detail


*demographic variables
rename ridageyr age
gen agecat=0
replace agecat=1 if age>19
replace agecat=2 if age>39
replace agecat=3 if age>59
replace agecat=. if age==.
label variable agecat "0:1-19yrs; 1:20-39yrs; 2:40-59yrs; 3:60+ yrs"
gen male=.
replace male=1 if riagendr==1
replace male=0 if riagendr==2
gen race=.
replace race=0 if ridreth3==3
replace race=1 if ridreth3==4
replace race=2 if ridreth3==1
replace race=2 if ridreth3==2
replace race=3 if ridreth3==6
replace race=4 if ridreth3==7
label variable race "0-NHwhite; 1-NHblack; 2-Hispanic; 3-NH Asian; 4-multi/other"
gen edu=0
replace edu=1 if dmdeduc2==1
replace edu=1 if dmdeduc2==2
replace edu=2 if dmdeduc2==3
replace edu=3 if dmdeduc2==4
replace edu=4 if dmdeduc2==5
label variable edu "0:child/DK/missing; 1:< high school; 2:HS/GED; 3:some coll/AA; 4:College+"
gen bmicat=0
replace bmicat=1 if bmxbmi>=25
replace bmicat=1 if bmdbmic==3
replace bmicat=2 if bmxbmi>=30
replace bmicat=2 if bmdbmic==4
replace bmicat=3 if (bmxbmi==. & bmdbmic==.)
label variable bmicat "0:under/normal; 1:overwt; 2:obese, 3: missing "

*fish/shellfish
gen shellfish=0
replace shellfish=1 if drd340==1
gen fish=0
replace fish=1 if drd360==1
gen anyfish=0
replace anyfish=1 if (shellfish==1 | fish==1)

*specific shellfish
gen clam=0
replace clam=1 if drd350a==1
label variable clam "clam in past 30 days: 0:no/missing, 1:yes"
gen crab=0
replace crab=1 if drd350b==1
label variable crab "crab in past 30 days: 0:no/missing, 1:yes"
gen crayfish=0
replace crayfish=1 if drd350c==1
label variable crayfish "crayfish in past 30 days: 0:no/missing, 1:yes"
gen lobster=0
replace lobster=1 if drd350d==1
label variable lobster "lobster in past 30 days: 0:no/missing, 1:yes"
gen mussel=0
replace mussel=1 if drd350e==1
label variable mussel "mussel in past 30 days: 0:no/missing, 1:yes"
gen oyster=0
replace oyster=1 if drd350f==1
label variable oyster "oyster in past 30 days: 0:no/missing, 1:yes"
gen scallops=0
replace scallops=1 if drd350g==1
label variable scallops "scallops in past 30 days: 0:no/missing, 1:yes"
gen shrimp=0
replace shrimp=1 if drd350h==1
label variable shrimp "shrimp in past 30 days: 0:no, 0:no/missing, 1:yes"
gen othershell=0
replace othershell=1 if drd350i==1
label variable othershell "othershell in past 30 days: 0:no/missing, 1:yes"
gen unknownshell=0
replace unknownshell=1 if drd350j==1
label variable unknownshell "unknownshell in past 30 days: 0:no/missing, 1:yes"

*fish
gen breaded=0
replace breaded=1 if drd370a==1
label variable breaded "breaded fish in past 30 days: 0:no/missing, 1:yes"
gen tuna=0
replace tuna=1 if drd370b==1
label variable tuna "tuna in past 30 days: 0:no/missing, 1:yes"
gen bass=0
replace bass=1 if drd370c==1
label variable bass "bass in past 30 days: 0:no/missing, 1:yes"
gen catfish=0
replace catfish=1 if drd370d==1
label variable catfish "catfish in past 30 days: 0:no/missing, 1:yes"
gen cod=0
replace cod=1 if drd370e==1
label variable cod "cod in past 30 days: 0:no/missing, 1:yes"
gen flatfish=0
replace flatfish=1 if drd370f==1
label variable flatfish "flatfish in past 30 days: 0:no/missing, 1:yes"
gen haddock=0
replace haddock=1 if drd370g==1
label variable haddock "haddock in past 30 days: 0:no/missing, 1:yes"
gen mackerel=0
replace mackerel=1 if drd370h==1
label variable mackerel "mackerel in past 30 days: 0:no/missing, 1:yes"
gen perch=0
replace perch=1 if drd370i==1
label variable perch "perch in past 30 days: 0:no/missing, 1:yes"
gen pike=0
replace pike=1 if drd370j==1
label variable pike "pike in past 30 days: 0:no/missing, 1:yes"
gen pollock=0
replace pollock=1 if drd370k==1
label variable pollock "pollock in past 30 days: 0:no/missing, 1:yes"
gen porgy=0
replace porgy=1 if drd370l==1
label variable porgy "porgy in past 30 days: 0:no/missing, 1:yes"
gen salmon=0
replace salmon=1 if drd370m==1
label variable salmon "salmon in past 30 days: 0:no/missing, 1:yes"
gen sardine=0
replace sardine=1 if drd370n==1
label variable sardine "sardine in past 30 days: 0:no/missing, 1:yes"
gen seabass=0
replace seabass=1 if drd370o==1
label variable seabass "seabass in past 30 days: 0:no/missing, 1:yes"
gen shark=0
replace shark=1 if drd370p==1
label variable shark "shark in past 30 days: 0:no/missing, 1:yes"
gen swordfish=0
replace swordfish=1 if drd370q==1
label variable swordfish "swordfish in past 30 days: 0:no/missing, 1:yes"
gen trout=0
replace trout=1 if drd370r==1
label variable trout "trout in past 30 days: 0:no/missing, 1:yes"
gen walleye=0
replace walleye=1 if drd370s==1
label variable walleye "walleye in past 30 days: 0:no/missing, 1:yes"
gen otherfish=0
replace otherfish=1 if drd370t==1
label variable otherfish "otherfish in past 30 days: 0:no/missing, 1:yes"
gen unknownfish=0
replace unknownfish=1 if drd370u==1
label variable unknownfish "unknownfish in past 30 days: 0:no/missing, 1:yes"

gen preg=1
replace preg=0 if male==1
replace preg=0 if age>45
replace preg=0 if age<15

*******************************
*********************************




**DEMOGRAPHICS TABLE

*declare survey dataset-blood
svyset sdmvpsu [pweight=wtmec2yr], strata(sdmvstra) 

*thg mehg total population
svy linearized, subpop(pop) : proportion agecat
svy linearized, subpop(popfish) : proportion agecat
svy linearized, subpop(popnofish) : proportion agecat
svy linearized, subpop(pop) : tabulate agecat popfish, pearson
svy linearized, subpop(pop) : proportion male
svy linearized, subpop(popfish) : proportion male
svy linearized, subpop(popnofish) : proportion male
svy linearized, subpop(pop) : tabulate male popfish, pearson
svy linearized, subpop(pop) : proportion race
svy linearized, subpop(popfish) : proportion race
svy linearized, subpop(popnofish) : proportion race
svy linearized, subpop(pop) : tabulate race popfish, pearson
svy linearized, subpop(pop) : proportion edu
svy linearized, subpop(popfish) : proportion edu
svy linearized, subpop(popnofish) : proportion edu
svy linearized, subpop(pop) : tabulate edu popfish, pearson
svy linearized, subpop(pop) : proportion bmicat
svy linearized, subpop(popfish) : proportion bmicat
svy linearized, subpop(popnofish) : proportion bmicat
svy linearized, subpop(pop) : tabulate bmicat popfish, pearson


* checking effect of exclusions for pop
svy linearized: proportion agecat if pop==1
svy linearized: proportion agecat if pop==0
svy linearized: tabulate agecat pop, pearson
svy linearized: proportion male if pop==1
svy linearized: proportion male if pop==0
svy linearized: tabulate male pop, pearson
svy linearized: proportion race if pop==1
svy linearized: proportion race if pop==0
svy linearized: tabulate race pop, pearson
svy linearized: proportion edu if pop==1
svy linearized: proportion edu if pop==0
svy linearized: tabulate edu pop, pearson

* checking effect of exclusions for uhg
svy linearized: proportion agecat if popur==1
svy linearized: proportion agecat if (popur==0 & pop==1)
svy linearized: tabulate agecat popur if pop==1, pearson
svy linearized: proportion male if popur==1
svy linearized: proportion male if (popur==0 & pop==1)
svy linearized: tabulate male popur if pop==1, pearson
svy linearized: proportion race if popur==1
svy linearized: proportion race if (popur==0 & pop==1)
svy linearized: tabulate race popur if pop==1, pearson
svy linearized: proportion edu if popur==1
svy linearized: proportion edu if (popur==0 & pop==1)
svy linearized: tabulate edu popur if pop==1, pearson




******************************************************
******************************************************
*DISTRIBUTION OF HG TABLE

svy linearized, subpop(pop) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(pop) : regress lthg popfish
svy linearized, subpop(pop) : regress lmehg popfish

svyset sdmvpsu [pweight=wtsa2yr], strata(sdmvstra) 
svy linearized, subpop(popur) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popur) : regress luhgc popurfish
svyset sdmvpsu [pweight=wtmec2yr], strata(sdmvstra)

svy linearized, subpop(pop) : proportion thg5
svy linearized, subpop(popfish) : proportion thg5
svy linearized, subpop(popnofish) : proportion thg5
svy linearized, subpop(pop) : tabulate thg5 popfish, pearson
svy linearized, subpop(pop if thg5==1) : mean age
svy linearized, subpop(popfish if thg5==1) : mean age
svy linearized, subpop(popnofish if thg5==1) : mean age

svy linearized, subpop(pop) : proportion thg3
svy linearized, subpop(popfish) : proportion thg3
svy linearized, subpop(popnofish) : proportion thg3
svy linearized, subpop(pop) : tabulate thg3 popfish, pearson
svy linearized, subpop(pop if thg3==1) : mean age
svy linearized, subpop(popfish if thg3==1) : mean age
svy linearized, subpop(popnofish if thg3==1) : mean age

svy linearized, subpop(pop) : proportion mehg5
svy linearized, subpop(popfish) : proportion mehg5
svy linearized, subpop(popnofish) : proportion mehg5
svy linearized, subpop(pop) : tabulate mehg5 popfish, pearson
svy linearized, subpop(pop if mehg5==1) : mean age
svy linearized, subpop(popfish if mehg5==1) : mean age
svy linearized, subpop(popnofish if mehg5==1) : mean age

svy linearized, subpop(pop) : proportion mehg3
svy linearized, subpop(popfish) : proportion mehg3
svy linearized, subpop(popnofish) : proportion mehg3
svy linearized, subpop(pop) : tabulate mehg3 popfish, pearson
svy linearized, subpop(pop if mehg3==1) : mean age
svy linearized, subpop(popfish if mehg3==1) : mean age
svy linearized, subpop(popnofish if mehg3==1) : mean age




*****************************************
*******************************************
* HG by SPECIFIC FOODS -- for FIGURE -- FISH CONSUMERS

svy linearized, subpop(popfish) : mean lthg lmehg
ereturn display, eform(geo_mean)

*dairy
svy linearized, subpop(popfish if milk==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg milk
svy linearized, subpop(popfish) : regress lmehg milk
svy linearized, subpop(popfish if flamilk==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg flamilk
svy linearized, subpop(popfish) : regress lmehg flamilk
svy linearized, subpop(popfish if milkshake==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg milkshake
svy linearized, subpop(popfish) : regress lmehg milkshake
svy linearized, subpop(popfish if milksub==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg milksub
svy linearized, subpop(popfish) : regress lmehg milksub
svy linearized, subpop(popfish if cheese==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg cheese
svy linearized, subpop(popfish) : regress lmehg cheese
svy linearized, subpop(popfish if yogurt==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg yogurt
svy linearized, subpop(popfish) : regress lmehg yogurt

*make bigger dairy categories
gen milkall=0
replace milkall=1 if (milk==1 | flamilk==1 | milkshake==1)
gen milkplus=0
replace milkplus=1 if (milk==1 | flamilk==1 )
gen cheeseyog=0
replace cheeseyog=1 if (cheese==1 | yogurt==1)
gen dairy=0
replace dairy=1 if (milk==1 | flamilk==1 | milkshake==1 | cheese==1 | yogurt==1)

*dairy categories
svy linearized, subpop(popfish if milkall==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg milkall
svy linearized, subpop(popfish) : regress lmehg milkall
svy linearized, subpop(popfish if milkplus==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg milkplus
svy linearized, subpop(popfish) : regress lmehg milkplus
svy linearized, subpop(popfish if cheeseyog==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg cheeseyog
svy linearized, subpop(popfish) : regress lmehg cheeseyog
svy linearized, subpop(popfish if dairy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg dairy
svy linearized, subpop(popfish) : regress lmehg dairy

*meats
svy linearized, subpop(popfish if beef==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg beef
svy linearized, subpop(popfish) : regress lmehg beef
svy linearized, subpop(popfish if meats==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg meats
svy linearized, subpop(popfish) : regress lmehg meats
svy linearized, subpop(popfish if poultry==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg poultry
svy linearized, subpop(popfish) : regress lmehg poultry
svy linearized, subpop(popfish if fishdiet==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg fishdiet
svy linearized, subpop(popfish) : regress lmehg fishdiet
svy linearized, subpop(popfish if shelldiet==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg shelldiet
svy linearized, subpop(popfish) : regress lmehg shelldiet
svy linearized, subpop(popfish if eggs==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg eggs
svy linearized, subpop(popfish) : regress lmehg eggs
svy linearized, subpop(popfish if cured==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg cured
svy linearized, subpop(popfish) : regress lmehg cured
svy linearized, subpop(popfish if beans==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg beans
svy linearized, subpop(popfish) : regress lmehg beans
svy linearized, subpop(popfish if nuts==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg nuts
svy linearized, subpop(popfish) : regress lmehg nuts
svy linearized, subpop(popfish if soy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg soy
svy linearized, subpop(popfish) : regress lmehg soy

*combined meat categories
gen manymeat=0
replace manymeat=1 if (beef==1 | poultry==1 | meats==1 | cured==1)
gen beannutsoy=0
replace beannutsoy=1 if (beans==1 | nuts==1 | soy==1)

svy linearized, subpop(popfish if manymeat==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg manymeat
svy linearized, subpop(popfish) : regress lmehg manymeat
svy linearized, subpop(popfish if beannutsoy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg beannutsoy
svy linearized, subpop(popfish) : regress lmehg beannutsoy


*mixed dishes
svy linearized, subpop(popfish if mixmeat==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixmeat
svy linearized, subpop(popfish) : regress lmehg mixmeat
svy linearized, subpop(popfish if mixpoultry==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixpoultry
svy linearized, subpop(popfish) : regress lmehg mixpoultry
svy linearized, subpop(popfish if mixseafood==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixseafood
svy linearized, subpop(popfish) : regress lmehg mixseafood
svy linearized, subpop(popfish if mixrice==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixrice
svy linearized, subpop(popfish) : regress lmehg mixrice
svy linearized, subpop(popfish if mixgrain==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixgrain
svy linearized, subpop(popfish) : regress lmehg mixgrain
svy linearized, subpop(popfish if mixasian==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixasian
svy linearized, subpop(popfish) : regress lmehg mixasian
svy linearized, subpop(popfish if mixmexican==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixmexican
svy linearized, subpop(popfish) : regress lmehg mixmexican
svy linearized, subpop(popfish if mixpizza==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg mixpizza
svy linearized, subpop(popfish) : regress lmehg mixpizza
svy linearized, subpop(popfish if sandwich==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg sandwich
svy linearized, subpop(popfish) : regress lmehg sandwich
svy linearized, subpop(popfish if soup==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg soup
svy linearized, subpop(popfish) : regress lmehg soup

*mixed dish combo
gen pizzasand=0
replace pizzasand=1 if (mixpizza==1 | sandwich==1)

svy linearized, subpop(popfish if pizzasand==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg pizzasand
svy linearized, subpop(popfish) : regress lmehg pizzasand

**grains
svy linearized, subpop(popfish if rice==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg rice
svy linearized, subpop(popfish) : regress lmehg rice
svy linearized, subpop(popfish if cookedgrain==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg cookedgrain
svy linearized, subpop(popfish) : regress lmehg cookedgrain
svy linearized, subpop(popfish if breads==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg breads
svy linearized, subpop(popfish) : regress lmehg breads
svy linearized, subpop(popfish if quickbread==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg quickbread
svy linearized, subpop(popfish) : regress lmehg quickbread
svy linearized, subpop(popfish if readycereal==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg readycereal
svy linearized, subpop(popfish) : regress lmehg readycereal
svy linearized, subpop(popfish if cookedcereal==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg cookedcereal
svy linearized, subpop(popfish) : regress lmehg cookedcereal

**combo grains
gen cookgraincereal=0
replace cookgraincereal=1 if (cookedcereal==1 | cookedgrain==1)
gen othgrain=0
replace othgrain=1 if (readycereal==1 | quickbread==1)

svy linearized, subpop(popfish if cookgraincereal==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg cookgraincereal
svy linearized, subpop(popfish) : regress lmehg cookgraincereal
svy linearized, subpop(popfish if othgrain==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg othgrain
svy linearized, subpop(popfish) : regress lmehg othgrain

*candy/snacks
svy linearized, subpop(popfish if savory==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg savory
svy linearized, subpop(popfish) : regress lmehg savory
svy linearized, subpop(popfish if crackers==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg crackers
svy linearized, subpop(popfish) : regress lmehg crackers
svy linearized, subpop(popfish if snackbar==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg snackbar
svy linearized, subpop(popfish) : regress lmehg snackbar
svy linearized, subpop(popfish if sweetbakery==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg sweetbakery
svy linearized, subpop(popfish) : regress lmehg sweetbakery
svy linearized, subpop(popfish if candy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg candy
svy linearized, subpop(popfish) : regress lmehg candy
svy linearized, subpop(popfish if dessert==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg dessert
svy linearized, subpop(popfish) : regress lmehg dessert

*combo snacks
gen othsnack=0
replace othsnack=1 if (crackers==1 | snackbar==1 | sweetbakery==1 | candy==1 | dessert==1)
svy linearized, subpop(popfish if othsnack==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg othsnack
svy linearized, subpop(popfish) : regress lmehg othsnack


*fruit
svy linearized, subpop(popfish if apple==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg apple
svy linearized, subpop(popfish) : regress lmehg apple
svy linearized, subpop(popfish if banana==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg banana
svy linearized, subpop(popfish) : regress lmehg banana
svy linearized, subpop(popfish if grape==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg grape
svy linearized, subpop(popfish) : regress lmehg grape
svy linearized, subpop(popfish if berries==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg berries
svy linearized, subpop(popfish) : regress lmehg berries
svy linearized, subpop(popfish if citrus==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg citrus
svy linearized, subpop(popfish) : regress lmehg citrus
svy linearized, subpop(popfish if driedfruit==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg driedfruit
svy linearized, subpop(popfish) : regress lmehg driedfruit
svy linearized, subpop(popfish if othfruit==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg othfruit
svy linearized, subpop(popfish) : regress lmehg othfruit

*anyfruit
gen fruit=0
replace fruit=1 if (apple==1 | banana==1 | grape==1 | berries==1 | citrus==1 | driedfruit==1 | othfruit==1)
svy linearized, subpop(popfish if fruit==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg fruit
svy linearized, subpop(popfish) : regress lmehg fruit

*vegetable
svy linearized, subpop(popfish if tomato==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg tomato
svy linearized, subpop(popfish) : regress lmehg tomato
svy linearized, subpop(popfish if carrots==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg carrots
svy linearized, subpop(popfish) : regress lmehg carrots
svy linearized, subpop(popfish if othredveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg othredveg
svy linearized, subpop(popfish) : regress lmehg othredveg
svy linearized, subpop(popfish if dkgreen==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg dkgreen
svy linearized, subpop(popfish) : regress lmehg dkgreen
svy linearized, subpop(popfish if lettuce==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg lettuce
svy linearized, subpop(popfish) : regress lmehg lettuce
svy linearized, subpop(popfish if stbean==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg stbean
svy linearized, subpop(popfish) : regress lmehg stbean
svy linearized, subpop(popfish if onion==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg onion
svy linearized, subpop(popfish) : regress lmehg onion
svy linearized, subpop(popfish if corn==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg corn
svy linearized, subpop(popfish) : regress lmehg corn
svy linearized, subpop(popfish if othstarchveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg othstarchveg
svy linearized, subpop(popfish) : regress lmehg othstarchveg
svy linearized, subpop(popfish if othervegcom==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg othervegcom
svy linearized, subpop(popfish) : regress lmehg othervegcom
svy linearized, subpop(popfish if vegmix==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg vegmix
svy linearized, subpop(popfish) : regress lmehg vegmix
svy linearized, subpop(popfish if potato==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg potato
svy linearized, subpop(popfish) : regress lmehg potato

**combined veggies
gen redveg=0
replace redveg=1 if (tomato==1 | carrots==1 | othredveg==1)
gen leafy=0
replace leafy=1 if (dkgreen==1 | lettuce==1)
gen cornstarch=0
replace cornstarch=1 if (corn==1 | othstarchveg==1)
gen othveg=0
replace othveg=1 if (vegmix==1 | othervegcom==1 | stbean==1 | onion==1)

svy linearized, subpop(popfish if redveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg redveg
svy linearized, subpop(popfish) : regress lmehg redveg
svy linearized, subpop(popfish if leafy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg leafy
svy linearized, subpop(popfish) : regress lmehg leafy
svy linearized, subpop(popfish if cornstarch==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg cornstarch
svy linearized, subpop(popfish) : regress lmehg cornstarch
svy linearized, subpop(popfish if othveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg othveg
svy linearized, subpop(popfish) : regress lmehg othveg


** beverages
svy linearized, subpop(popfish if juice==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg juice
svy linearized, subpop(popfish) : regress lmehg juice
svy linearized, subpop(popfish if diet==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg diet
svy linearized, subpop(popfish) : regress lmehg diet
svy linearized, subpop(popfish if sweetbev==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg sweetbev
svy linearized, subpop(popfish) : regress lmehg sweetbev
svy linearized, subpop(popfish if coffee==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg coffee
svy linearized, subpop(popfish) : regress lmehg coffee
svy linearized, subpop(popfish if tea==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg tea
svy linearized, subpop(popfish) : regress lmehg tea
svy linearized, subpop(popfish if beer==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg beer
svy linearized, subpop(popfish) : regress lmehg beer
svy linearized, subpop(popfish if wine==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg wine
svy linearized, subpop(popfish) : regress lmehg wine
svy linearized, subpop(popfish if liquor==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg liquor
svy linearized, subpop(popfish) : regress lmehg liquor
svy linearized, subpop(popfish if tapw==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg tapw
svy linearized, subpop(popfish) : regress lmehg tapw
svy linearized, subpop(popfish if bottledw==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg bottledw
svy linearized, subpop(popfish) : regress lmehg bottledw
svy linearized, subpop(popfish if flavw==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg flavw
svy linearized, subpop(popfish) : regress lmehg flavw

**combination
gen soda=0
replace soda=1 if (diet==1 | sweetbev==1)
gen caffeine=0
replace caffeine=1 if (coffee==1 | tea==1)
gen alcohol=0
replace alcohol=1 if (beer==1 | wine==1 | liquor==1)
gen bottflav=0
replace bottflav=1 if (bottledw==1 | flavw==1)

svy linearized, subpop(popfish if soda==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg soda
svy linearized, subpop(popfish) : regress lmehg soda
svy linearized, subpop(popfish if caffeine==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg caffeine
svy linearized, subpop(popfish) : regress lmehg caffeine
svy linearized, subpop(popfish if alcohol==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg alcohol
svy linearized, subpop(popfish) : regress lmehg alcohol
svy linearized, subpop(popfish if bottflav==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg bottflav
svy linearized, subpop(popfish) : regress lmehg bottflav


**condiments
svy linearized, subpop(popfish if fats==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg fats
svy linearized, subpop(popfish) : regress lmehg fats
svy linearized, subpop(popfish if vegoil==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg vegoil
svy linearized, subpop(popfish) : regress lmehg vegoil
svy linearized, subpop(popfish if sauce==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg sauce
svy linearized, subpop(popfish) : regress lmehg sauce
svy linearized, subpop(popfish if sugars==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg sugars
svy linearized, subpop(popfish) : regress lmehg sugars
svy linearized, subpop(popfish if jam==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg jam
svy linearized, subpop(popfish) : regress lmehg jam
svy linearized, subpop(popfish if baby==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg baby
svy linearized, subpop(popfish) : regress lmehg baby
svy linearized, subpop(popfish if other==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg other
svy linearized, subpop(popfish) : regress lmehg other

**combo
gen sugjam=0
replace sugjam=1 if (sugars==1 | jam==1)
svy linearized, subpop(popfish if sugjam==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg sugjam
svy linearized, subpop(popfish) : regress lmehg sugjam


****URINARY HG**************
svyset sdmvpsu [pweight=wtsa2yr], strata(sdmvstra) 
svy linearized, subpop(popurfish) : mean luhgc
ereturn display, eform(geo_mean)

**dairy
svy linearized, subpop(popurfish if milk==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc milk
svy linearized, subpop(popurfish if flamilk==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc flamilk
svy linearized, subpop(popurfish if milkshake==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc milkshake
svy linearized, subpop(popurfish if milksub==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc milksub
svy linearized, subpop(popurfish if cheese==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc cheese
svy linearized, subpop(popurfish if yogurt==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc yogurt

svy linearized, subpop(popurfish if milkall==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc milkall
svy linearized, subpop(popurfish if milkplus==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc milkplus
svy linearized, subpop(popurfish if cheeseyog==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc cheeseyog


**meats/proteins
svy linearized, subpop(popurfish if beef==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc beef
svy linearized, subpop(popurfish if meats==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc meats
svy linearized, subpop(popurfish if poultry==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc poultry
svy linearized, subpop(popurfish if fishdiet==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc fishdiet
svy linearized, subpop(popurfish if shelldiet==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc shelldiet
svy linearized, subpop(popurfish if eggs==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc eggs
svy linearized, subpop(popurfish if cured==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc cured
svy linearized, subpop(popurfish if beans==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc beans
svy linearized, subpop(popurfish if nuts==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc nuts
svy linearized, subpop(popfish if soy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc soy

svy linearized, subpop(popurfish if manymeat==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc manymeat
svy linearized, subpop(popurfish if beannutsoy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc beannutsoy


**mixed dishes
svy linearized, subpop(popurfish if mixmeat==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixmeat
svy linearized, subpop(popurfish if mixpoultry==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixpoultry
svy linearized, subpop(popurfish if mixseafood==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixseafood
svy linearized, subpop(popurfish if mixrice==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixrice
svy linearized, subpop(popurfish if mixgrain==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixgrain
svy linearized, subpop(popurfish if mixasian==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixasian
svy linearized, subpop(popurfish if mixmexican==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixmexican
svy linearized, subpop(popurfish if mixpizza==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc mixpizza
svy linearized, subpop(popurfish if sandwich==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc sandwich
svy linearized, subpop(popurfish if soup==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc soup

svy linearized, subpop(popurfish if pizzasand==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc pizzasand

*grains
svy linearized, subpop(popurfish if rice==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc rice
svy linearized, subpop(popurfish if cookedgrain==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc cookedgrain
svy linearized, subpop(popurfish if breads==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc breads
svy linearized, subpop(popurfish if quickbread==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc quickbread
svy linearized, subpop(popurfish if readycereal==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc readycereal
svy linearized, subpop(popurfish if cookedcereal==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc cookedcereal

svy linearized, subpop(popurfish if cookgraincereal==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc cookgraincereal
svy linearized, subpop(popurfish if othgrain==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc othgrain


**snacks

*candy/snacks
svy linearized, subpop(popurfish if savory==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc savory
svy linearized, subpop(popurfish if crackers==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc crackers
svy linearized, subpop(popurfish if snackbar==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc snackbar
svy linearized, subpop(popurfish if sweetbakery==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc sweetbakery
svy linearized, subpop(popurfish if candy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc candy
svy linearized, subpop(popurfish if dessert==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc dessert

*combo snacks
svy linearized, subpop(popurfish if othsnack==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc othsnack


**fruits
svy linearized, subpop(popurfish if apple==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc apple
svy linearized, subpop(popurfish if banana==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc banana
svy linearized, subpop(popurfish if grape==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc grape
svy linearized, subpop(popurfish if berries==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc berries
svy linearized, subpop(popurfish if citrus==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc citrus
svy linearized, subpop(popurfish if driedfruit==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc driedfruit
svy linearized, subpop(popurfish if othfruit==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc othfruit

svy linearized, subpop(popurfish if fruit==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc fruit



***veggies
svy linearized, subpop(popurfish if tomato==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc tomato
svy linearized, subpop(popurfish if carrots==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc carrots
svy linearized, subpop(popurfish if othredveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc othredveg
svy linearized, subpop(popurfish if dkgreen==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc dkgreen
svy linearized, subpop(popurfish if lettuce==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc lettuce
svy linearized, subpop(popurfish if stbean==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc stbean
svy linearized, subpop(popurfish if onion==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc onion
svy linearized, subpop(popurfish if corn==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc corn
svy linearized, subpop(popurfish if othstarchveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc othstarchveg
svy linearized, subpop(popurfish if othervegcom==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc othervegcom
svy linearized, subpop(popurfish if vegmix==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc vegmix
svy linearized, subpop(popurfish if potato==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc potato

svy linearized, subpop(popurfish if redveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc redveg
svy linearized, subpop(popurfish if leafy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc leafy
svy linearized, subpop(popurfish if cornstarch==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc cornstarch
svy linearized, subpop(popurfish if othveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc othveg

**beverages
svy linearized, subpop(popurfish if juice==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc juice
svy linearized, subpop(popurfish if diet==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc diet
svy linearized, subpop(popurfish if sweetbev==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc sweetbev
svy linearized, subpop(popurfish if coffee==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc coffee
svy linearized, subpop(popurfish if tea==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc tea
svy linearized, subpop(popurfish if beer==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc beer
svy linearized, subpop(popurfish if wine==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc wine
svy linearized, subpop(popurfish if liquor==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc liquor
svy linearized, subpop(popurfish if tapw==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc tapw
svy linearized, subpop(popurfish if bottledw==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc bottledw
svy linearized, subpop(popurfish if flavw==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc flavw

svy linearized, subpop(popurfish if soda==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc soda
svy linearized, subpop(popurfish if caffeine==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc caffeine
svy linearized, subpop(popurfish if alcohol==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc alcohol
svy linearized, subpop(popurfish if bottflav==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc bottflav

**condiments
svy linearized, subpop(popurfish if fats==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc fats
svy linearized, subpop(popurfish if vegoil==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc vegoil
svy linearized, subpop(popurfish if sauce==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc sauce
svy linearized, subpop(popurfish if sugars==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc sugars
svy linearized, subpop(popurfish if jam==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc jam
svy linearized, subpop(popurfish if baby==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc baby
svy linearized, subpop(popurfish if other==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc other

svy linearized, subpop(popurfish if sugjam==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc sugjam

svyset sdmvpsu [pweight=wtmec2yr], strata(sdmvstra)




*****************************************
*******************************************
** HG by SPECIFIC FOODS -- for FIGURE -- NON - FISH CONSUMERS

svy linearized, subpop(popnofish) : mean lthg lmehg
ereturn display, eform(geo_mean)

*dairy
svy linearized, subpop(popnofish if milk==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg milk
svy linearized, subpop(popnofish) : regress lmehg milk
svy linearized, subpop(popnofish if flamilk==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg flamilk
svy linearized, subpop(popnofish) : regress lmehg flamilk
svy linearized, subpop(popnofish if milkshake==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg milkshake
svy linearized, subpop(popnofish) : regress lmehg milkshake
svy linearized, subpop(popnofish if milksub==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg milksub
svy linearized, subpop(popnofish) : regress lmehg milksub
svy linearized, subpop(popnofish if cheese==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg cheese
svy linearized, subpop(popnofish) : regress lmehg cheese
svy linearized, subpop(popnofish if yogurt==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg yogurt
svy linearized, subpop(popnofish) : regress lmehg yogurt


svy linearized, subpop(popnofish if milkall==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg milkall
svy linearized, subpop(popnofish) : regress lmehg milkall
svy linearized, subpop(popnofish if milkplus==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg milkplus
svy linearized, subpop(popnofish) : regress lmehg milkplus
svy linearized, subpop(popnofish if cheeseyog==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg cheeseyog
svy linearized, subpop(popnofish) : regress lmehg cheeseyog
svy linearized, subpop(popnofish if dairy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg dairy
svy linearized, subpop(popnofish) : regress lmehg dairy

*meats
svy linearized, subpop(popnofish if beef==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg beef
svy linearized, subpop(popnofish) : regress lmehg beef
svy linearized, subpop(popnofish if meats==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg meats
svy linearized, subpop(popnofish) : regress lmehg meats
svy linearized, subpop(popnofish if poultry==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg poultry
svy linearized, subpop(popnofish) : regress lmehg poultry
svy linearized, subpop(popnofish if fishdiet==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg fishdiet
svy linearized, subpop(popnofish) : regress lmehg fishdiet
svy linearized, subpop(popnofish if shelldiet==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg shelldiet
svy linearized, subpop(popnofish) : regress lmehg shelldiet
svy linearized, subpop(popnofish if eggs==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg eggs
svy linearized, subpop(popnofish) : regress lmehg eggs
svy linearized, subpop(popnofish if cured==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg cured
svy linearized, subpop(popnofish) : regress lmehg cured
svy linearized, subpop(popnofish if beans==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg beans
svy linearized, subpop(popnofish) : regress lmehg beans
svy linearized, subpop(popnofish if nuts==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg nuts
svy linearized, subpop(popnofish) : regress lmehg nuts
svy linearized, subpop(popnofish if soy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg soy
svy linearized, subpop(popnofish) : regress lmehg soy

*combined meat categories
svy linearized, subpop(popnofish if manymeat==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg manymeat
svy linearized, subpop(popnofish) : regress lmehg manymeat
svy linearized, subpop(popnofish if beannutsoy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg beannutsoy
svy linearized, subpop(popnofish) : regress lmehg beannutsoy


*mixed dishes
svy linearized, subpop(popnofish if mixmeat==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixmeat
svy linearized, subpop(popnofish) : regress lmehg mixmeat
svy linearized, subpop(popnofish if mixpoultry==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixpoultry
svy linearized, subpop(popnofish) : regress lmehg mixpoultry
svy linearized, subpop(popnofish if mixseafood==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixseafood
svy linearized, subpop(popnofish) : regress lmehg mixseafood
svy linearized, subpop(popnofish if mixrice==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixrice
svy linearized, subpop(popnofish) : regress lmehg mixrice
svy linearized, subpop(popnofish if mixgrain==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixgrain
svy linearized, subpop(popnofish) : regress lmehg mixgrain
svy linearized, subpop(popnofish if mixasian==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixasian
svy linearized, subpop(popnofish) : regress lmehg mixasian
svy linearized, subpop(popnofish if mixmexican==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixmexican
svy linearized, subpop(popnofish) : regress lmehg mixmexican
svy linearized, subpop(popnofish if mixpizza==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg mixpizza
svy linearized, subpop(popnofish) : regress lmehg mixpizza
svy linearized, subpop(popnofish if sandwich==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg sandwich
svy linearized, subpop(popnofish) : regress lmehg sandwich
svy linearized, subpop(popnofish if soup==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg soup
svy linearized, subpop(popnofish) : regress lmehg soup

*mixed dish combo
svy linearized, subpop(popnofish if pizzasand==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg pizzasand
svy linearized, subpop(popnofish) : regress lmehg pizzasand

**grains
svy linearized, subpop(popnofish if rice==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg rice
svy linearized, subpop(popnofish) : regress lmehg rice
svy linearized, subpop(popnofish if cookedgrain==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg cookedgrain
svy linearized, subpop(popnofish) : regress lmehg cookedgrain
svy linearized, subpop(popnofish if breads==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg breads
svy linearized, subpop(popnofish) : regress lmehg breads
svy linearized, subpop(popnofish if quickbread==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg quickbread
svy linearized, subpop(popnofish) : regress lmehg quickbread
svy linearized, subpop(popnofish if readycereal==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg readycereal
svy linearized, subpop(popnofish) : regress lmehg readycereal
svy linearized, subpop(popnofish if cookedcereal==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg cookedcereal
svy linearized, subpop(popnofish) : regress lmehg cookedcereal

svy linearized, subpop(popnofish if cookgraincereal==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg cookgraincereal
svy linearized, subpop(popnofish) : regress lmehg cookgraincereal
svy linearized, subpop(popnofish if othgrain==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg othgrain
svy linearized, subpop(popnofish) : regress lmehg othgrain

*candy/snacks
svy linearized, subpop(popnofish if savory==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg savory
svy linearized, subpop(popnofish) : regress lmehg savory
svy linearized, subpop(popnofish if crackers==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg crackers
svy linearized, subpop(popnofish) : regress lmehg crackers
svy linearized, subpop(popnofish if snackbar==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg snackbar
svy linearized, subpop(popnofish) : regress lmehg snackbar
svy linearized, subpop(popnofish if sweetbakery==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg sweetbakery
svy linearized, subpop(popnofish) : regress lmehg sweetbakery
svy linearized, subpop(popnofish if candy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg candy
svy linearized, subpop(popnofish) : regress lmehg candy
svy linearized, subpop(popnofish if dessert==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg dessert
svy linearized, subpop(popnofish) : regress lmehg dessert

*combo snacks
svy linearized, subpop(popnofish if othsnack==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg othsnack
svy linearized, subpop(popnofish) : regress lmehg othsnack


*fruit
svy linearized, subpop(popnofish if apple==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg apple
svy linearized, subpop(popnofish) : regress lmehg apple
svy linearized, subpop(popnofish if banana==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg banana
svy linearized, subpop(popnofish) : regress lmehg banana
svy linearized, subpop(popnofish if grape==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg grape
svy linearized, subpop(popnofish) : regress lmehg grape
svy linearized, subpop(popnofish if berries==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg berries
svy linearized, subpop(popnofish) : regress lmehg berries
svy linearized, subpop(popnofish if citrus==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg citrus
svy linearized, subpop(popnofish) : regress lmehg citrus
svy linearized, subpop(popnofish if driedfruit==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg driedfruit
svy linearized, subpop(popnofish) : regress lmehg driedfruit
svy linearized, subpop(popnofish if othfruit==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg othfruit
svy linearized, subpop(popnofish) : regress lmehg othfruit

*anyfruit
svy linearized, subpop(popnofish if fruit==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg fruit
svy linearized, subpop(popnofish) : regress lmehg fruit

*vegetable
svy linearized, subpop(popnofish if tomato==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg tomato
svy linearized, subpop(popnofish) : regress lmehg tomato
svy linearized, subpop(popnofish if carrots==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg carrots
svy linearized, subpop(popnofish) : regress lmehg carrots
svy linearized, subpop(popnofish if othredveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg othredveg
svy linearized, subpop(popnofish) : regress lmehg othredveg
svy linearized, subpop(popnofish if dkgreen==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg dkgreen
svy linearized, subpop(popnofish) : regress lmehg dkgreen
svy linearized, subpop(popnofish if lettuce==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg lettuce
svy linearized, subpop(popnofish) : regress lmehg lettuce
svy linearized, subpop(popnofish if stbean==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg stbean
svy linearized, subpop(popnofish) : regress lmehg stbean
svy linearized, subpop(popnofish if onion==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg onion
svy linearized, subpop(popnofish) : regress lmehg onion
svy linearized, subpop(popnofish if corn==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg corn
svy linearized, subpop(popnofish) : regress lmehg corn
svy linearized, subpop(popnofish if othstarchveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg othstarchveg
svy linearized, subpop(popnofish) : regress lmehg othstarchveg
svy linearized, subpop(popnofish if othervegcom==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg othervegcom
svy linearized, subpop(popnofish) : regress lmehg othervegcom
svy linearized, subpop(popnofish if vegmix==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg vegmix
svy linearized, subpop(popnofish) : regress lmehg vegmix
svy linearized, subpop(popnofish if potato==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg potato
svy linearized, subpop(popnofish) : regress lmehg potato

**combined veggies
svy linearized, subpop(popnofish if redveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg redveg
svy linearized, subpop(popnofish) : regress lmehg redveg
svy linearized, subpop(popnofish if leafy==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg leafy
svy linearized, subpop(popnofish) : regress lmehg leafy
svy linearized, subpop(popnofish if cornstarch==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg cornstarch
svy linearized, subpop(popnofish) : regress lmehg cornstarch
svy linearized, subpop(popnofish if othveg==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg othveg
svy linearized, subpop(popnofish) : regress lmehg othveg


** beverages
svy linearized, subpop(popnofish if juice==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg juice
svy linearized, subpop(popnofish) : regress lmehg juice
svy linearized, subpop(popnofish if diet==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg diet
svy linearized, subpop(popnofish) : regress lmehg diet
svy linearized, subpop(popnofish if sweetbev==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg sweetbev
svy linearized, subpop(popnofish) : regress lmehg sweetbev
svy linearized, subpop(popnofish if coffee==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg coffee
svy linearized, subpop(popnofish) : regress lmehg coffee
svy linearized, subpop(popnofish if tea==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg tea
svy linearized, subpop(popnofish) : regress lmehg tea
svy linearized, subpop(popnofish if beer==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg beer
svy linearized, subpop(popnofish) : regress lmehg beer
svy linearized, subpop(popnofish if wine==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg wine
svy linearized, subpop(popnofish) : regress lmehg wine
svy linearized, subpop(popnofish if liquor==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg liquor
svy linearized, subpop(popnofish) : regress lmehg liquor
svy linearized, subpop(popnofish if tapw==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg tapw
svy linearized, subpop(popnofish) : regress lmehg tapw
svy linearized, subpop(popnofish if bottledw==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg bottledw
svy linearized, subpop(popnofish) : regress lmehg bottledw
svy linearized, subpop(popnofish if flavw==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg flavw
svy linearized, subpop(popnofish) : regress lmehg flavw

**combination
svy linearized, subpop(popnofish if soda==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg soda
svy linearized, subpop(popnofish) : regress lmehg soda
svy linearized, subpop(popnofish if caffeine==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg caffeine
svy linearized, subpop(popnofish) : regress lmehg caffeine
svy linearized, subpop(popnofish if alcohol==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg alcohol
svy linearized, subpop(popnofish) : regress lmehg alcohol
svy linearized, subpop(popnofish if bottflav==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg bottflav
svy linearized, subpop(popnofish) : regress lmehg bottflav


**condiments
svy linearized, subpop(popnofish if fats==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg fats
svy linearized, subpop(popnofish) : regress lmehg fats
svy linearized, subpop(popnofish if vegoil==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg vegoil
svy linearized, subpop(popnofish) : regress lmehg vegoil
svy linearized, subpop(popnofish if sauce==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg sauce
svy linearized, subpop(popnofish) : regress lmehg sauce
svy linearized, subpop(popnofish if sugars==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg sugars
svy linearized, subpop(popnofish) : regress lmehg sugars
svy linearized, subpop(popnofish if jam==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg jam
svy linearized, subpop(popnofish) : regress lmehg jam
svy linearized, subpop(popnofish if baby==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg baby
svy linearized, subpop(popnofish) : regress lmehg baby
svy linearized, subpop(popnofish if other==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg other
svy linearized, subpop(popnofish) : regress lmehg other

**combo
svy linearized, subpop(popnofish if sugjam==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg sugjam
svy linearized, subpop(popnofish) : regress lmehg sugjam


****URINARY HG**************
svyset sdmvpsu [pweight=wtsa2yr], strata(sdmvstra) 
svy linearized, subpop(popurnofish) : mean luhgc
ereturn display, eform(geo_mean)

**dairy
svy linearized, subpop(popurnofish if milk==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc milk
svy linearized, subpop(popurnofish if flamilk==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc flamilk
svy linearized, subpop(popurnofish if milkshake==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc milkshake
svy linearized, subpop(popurnofish if milksub==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc milksub
svy linearized, subpop(popurnofish if cheese==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc cheese
svy linearized, subpop(popurnofish if yogurt==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc yogurt

svy linearized, subpop(popurnofish if milkall==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc milkall
svy linearized, subpop(popurnofish if milkplus==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc milkplus
svy linearized, subpop(popurnofish if cheeseyog==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc cheeseyog


**meats/proteins
svy linearized, subpop(popurnofish if beef==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc beef
svy linearized, subpop(popurnofish if meats==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc meats
svy linearized, subpop(popurnofish if poultry==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc poultry
svy linearized, subpop(popurnofish if fishdiet==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc fishdiet
svy linearized, subpop(popurnofish if shelldiet==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc shelldiet
svy linearized, subpop(popurnofish if eggs==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc eggs
svy linearized, subpop(popurnofish if cured==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc cured
svy linearized, subpop(popurnofish if beans==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc beans
svy linearized, subpop(popurnofish if nuts==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc nuts
svy linearized, subpop(popurnofish if soy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc soy

svy linearized, subpop(popurnofish if manymeat==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc manymeat
svy linearized, subpop(popurnofish if beannutsoy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc beannutsoy


**mixed dishes
svy linearized, subpop(popurnofish if mixmeat==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixmeat
svy linearized, subpop(popurnofish if mixpoultry==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixpoultry
svy linearized, subpop(popurnofish if mixseafood==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixseafood
svy linearized, subpop(popurnofish if mixrice==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixrice
svy linearized, subpop(popurnofish if mixgrain==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixgrain
svy linearized, subpop(popurnofish if mixasian==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixasian
svy linearized, subpop(popurnofish if mixmexican==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixmexican
svy linearized, subpop(popurnofish if mixpizza==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc mixpizza
svy linearized, subpop(popurnofish if sandwich==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc sandwich
svy linearized, subpop(popurnofish if soup==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc soup

svy linearized, subpop(popurnofish if pizzasand==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc pizzasand

*grains
svy linearized, subpop(popurnofish if rice==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc rice
svy linearized, subpop(popurnofish if cookedgrain==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc cookedgrain
svy linearized, subpop(popurnofish if breads==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc breads
svy linearized, subpop(popurnofish if quickbread==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc quickbread
svy linearized, subpop(popurnofish if readycereal==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc readycereal
svy linearized, subpop(popurnofish if cookedcereal==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc cookedcereal

svy linearized, subpop(popurnofish if cookgraincereal==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc cookgraincereal
svy linearized, subpop(popurnofish if othgrain==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc othgrain


**snacks

*candy/snacks
svy linearized, subpop(popurnofish if savory==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc savory
svy linearized, subpop(popurnofish if crackers==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc crackers
svy linearized, subpop(popurnofish if snackbar==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc snackbar
svy linearized, subpop(popurnofish if sweetbakery==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc sweetbakery
svy linearized, subpop(popurnofish if candy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc candy
svy linearized, subpop(popurnofish if dessert==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc dessert

*combo snacks
svy linearized, subpop(popurnofish if othsnack==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc othsnack


**fruits
svy linearized, subpop(popurnofish if apple==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc apple
svy linearized, subpop(popurnofish if banana==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc banana
svy linearized, subpop(popurnofish if grape==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc grape
svy linearized, subpop(popurnofish if berries==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc berries
svy linearized, subpop(popurnofish if citrus==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc citrus
svy linearized, subpop(popurnofish if driedfruit==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc driedfruit
svy linearized, subpop(popurnofish if othfruit==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc othfruit

svy linearized, subpop(popurnofish if fruit==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc fruit



***veggies
svy linearized, subpop(popurnofish if tomato==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc tomato
svy linearized, subpop(popurnofish if carrots==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc carrots
svy linearized, subpop(popurnofish if othredveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc othredveg
svy linearized, subpop(popurnofish if dkgreen==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc dkgreen
svy linearized, subpop(popurnofish if lettuce==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc lettuce
svy linearized, subpop(popurnofish if stbean==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc stbean
svy linearized, subpop(popurnofish if onion==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc onion
svy linearized, subpop(popurnofish if corn==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc corn
svy linearized, subpop(popurnofish if othstarchveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc othstarchveg
svy linearized, subpop(popurnofish if othervegcom==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc othervegcom
svy linearized, subpop(popurnofish if vegmix==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc vegmix
svy linearized, subpop(popurnofish if potato==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc potato

svy linearized, subpop(popurnofish if redveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc redveg
svy linearized, subpop(popurnofish if leafy==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc leafy
svy linearized, subpop(popurnofish if cornstarch==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc cornstarch
svy linearized, subpop(popurnofish if othveg==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc othveg

**beverages
svy linearized, subpop(popurnofish if juice==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc juice
svy linearized, subpop(popurnofish if diet==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc diet
svy linearized, subpop(popurnofish if sweetbev==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc sweetbev
svy linearized, subpop(popurnofish if coffee==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc coffee
svy linearized, subpop(popurnofish if tea==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc tea
svy linearized, subpop(popurnofish if beer==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc beer
svy linearized, subpop(popurnofish if wine==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc wine
svy linearized, subpop(popurnofish if liquor==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc liquor
svy linearized, subpop(popurnofish if tapw==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc tapw
svy linearized, subpop(popurnofish if bottledw==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc bottledw
svy linearized, subpop(popurnofish if flavw==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc flavw

svy linearized, subpop(popurnofish if soda==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc soda
svy linearized, subpop(popurnofish if caffeine==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc caffeine
svy linearized, subpop(popurnofish if alcohol==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc alcohol
svy linearized, subpop(popurnofish if bottflav==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc bottflav

**condiments
svy linearized, subpop(popurnofish if fats==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurfish) : regress luhgc fats
svy linearized, subpop(popurfish if vegoil==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc vegoil
svy linearized, subpop(popurnofish if sauce==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc sauce
svy linearized, subpop(popurnofish if sugars==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc sugars
svy linearized, subpop(popurnofish if jam==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc jam
svy linearized, subpop(popurnofish if baby==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc baby
svy linearized, subpop(popurnofish if other==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc other

svy linearized, subpop(popurnofish if sugjam==1) : mean luhgc
ereturn display, eform(geo_mean)
svy linearized, subpop(popurnofish) : regress luhgc sugjam

svyset sdmvpsu [pweight=wtmec2yr], strata(sdmvstra)


*****************************************
*******************************************
*REGRESSION MODELS

*check collinearity
spearman dairydrink fishdiet shelldiet beannutsoy mixpoultry mixseafood mixrice mixasian rice cookgraincereal fruit redveg leafy othveg caffeine alcohol vegoil


*new categories
gen anyfishdiet=0
replace anyfishdiet=1 if (fishdiet==1 | shelldiet==1 | mixseafood==1)
gen anyrice=0
replace anyrice=1 if (mixrice==1 | rice==1)
gen redleafoil=0
replace redleafoil=1 if (redveg==1 | leafy==1 | vegoil==1)
gen anysoynut=0
replace anysoynut=1 if (beannutsoy==1 | milksub==1)


svy linearized, subpop(popfish if anysoynut==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress lthg anysoynut
svy linearized, subpop(popfish) : regress lmehg anysoynut

svy linearized, subpop(popnofish if anysoynut==1) : mean lthg lmehg
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress lthg anysoynut
svy linearized, subpop(popnofish) : regress lmehg anysoynut

svyset sdmvpsu [pweight=wtsa2yr], strata(sdmvstra) 
svy linearized, subpop(popfish if anysoynut==1) : mean luhgc 
ereturn display, eform(geo_mean)
svy linearized, subpop(popfish) : regress luhgc anysoynut
svy linearized, subpop(popnofish if anysoynut==1) : mean luhgc 
ereturn display, eform(geo_mean)
svy linearized, subpop(popnofish) : regress luhgc anysoynut
svyset sdmvpsu [pweight=wtmec2yr], strata(sdmvstra)


xi: svy linearized, subpop(popfish) : regress lthg age male ib(1).edu ib(0).race anyfishdiet anysoynut mixasian soup mixrice rice redleafoil beer wine liquor 
xi: svy linearized, subpop(popnofish) : regress lthg age male ib(1).edu ib(0).race anysoynut mixasian soup mixrice rice redleafoil beer wine liquor 
xi: svy linearized, subpop(popfish) : regress mehg age male ib(1).edu ib(0).race anyfishdiet anysoynut mixasian soup mixrice rice redleafoil beer wine liquor 
xi: svy linearized, subpop(popnofish) : regress mehg age male ib(1).edu ib(0).race anysoynut mixasian soup mixrice rice redleafoil beer wine liquor 


svyset sdmvpsu [pweight=wtsa2yr], strata(sdmvstra) 
xi: svy linearized, subpop(popfish) : regress luhgc age male ib(1).edu ib(0).race anyfishdiet anysoynut mixasian soup mixrice rice redleafoil beer wine liquor 
xi: svy linearized, subpop(popnofish) : regress luhgc age male ib(1).edu ib(0).race anysoynut mixasian soup mixrice rice redleafoil beer wine liquor 
svyset sdmvpsu [pweight=wtmec2yr], strata(sdmvstra)

